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Part-A (Physics)

estion
No.

~ Questions

The magnitude of electric field strength E such that an electron placed in

it would experience an electric force equal to its weight is given by

l (1) mge AR _r%g_
® et

The electric potential at the surface of an atomic nucleus (z-50) of radius

9 Fermi is
(1) 80 Volt ‘ @) 8x10°
@ v (4) 9x10°V

A charge Q is distributed uniformly in a sphere (solid). Then the electrlc

| field at any point r wherer <R (R is radlus of sphere) varies as

@ r* - @) :r
i : 4) r?

At a point on the axis of an electric dipole ;
(1) - The electric field E is zero

@) ) The electric potential V is zero

(3)} Neither E nor V is zero

(4) Both E and V are zero

| The quantity in electricity analogous to temperature is

(1) inductance (2) charge

(3) resistance (4) potential

- BPH-EE-2013-Code-D (1)
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Question ' 2
No. Questions
6. | The period of oscillations of a mass 1.6 kg suspended from a spring is

2 seconds. If along with it another mass m kg is also suspended, the period

- of oscillations increases by one second. The mass m is

1) 1kg (2) 2kg
(3) 1.6 kg | (4 26kg
7. | Two coherent sources must have the same
(1) Amplitude (2) Phase difference only ‘
(3)  Frequency only = (4) Phase difference and frequency
8. | When a source is going aWay from a stationary observer with a velocity
equal to that of sound in air, the frequency heard by observer will be
(1) Same ’ (2) Double '
(3) Half ; (4) One third
9. | Ultrasonic waves are produced by | ~
(1) Piezoelectric effect (2) Pettiro’s effect
(3) Dopplers effect . (49) None of these
10. | Fundamental frequency of a sonbmeter wire is n. If the length, tension and
diameter of the wire are tripled, the new fundamental frequency is
1 - i 9 b
» 7 @ 3
o L
(3) s @ 375
11. | A ball is dropped from the top of a tower of height h, it covers a distance

h/2 in the last second of its motion. How lgj_ng'the ball remains in air ? Take

g = 10ms™ ek
(1) 21«[2- sec : 2 «/—2_sec
3) 2 sec ' : :(4) 2%— sec

 BPH-EE-2013-Code-D (2)
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| 1‘\’%’*"“ Questibns

12. | Two particles are projected simultaneously in the same Vertical plane, from
the same point, both with different speeds and at difféx:ént angles with
horizontal. The pathkfo‘llowed_ by one, as seen by the other, is

_ (1) avertical line % v | '

2 a parabola
(3) ahyperbola |
“) a straight making a éqnstant angle (# 90°) with the horizontal

13. | A bullet fired into a ta;rget loses half its Velocity after péhetrating 25 cm,|

How much further will it penetrate before coming to rest ?

(1 V26 em (@ 25cm.
(3) 8.3cm. e @ Tsem.

14.

A small ball describes a horizontal circle on the smooth inner surface of a

conical funnel. If the height of the plane of the circle above the‘ vertex be|

10 cm; what is the speed of the particle ?
(1) 2m/s i (2) 4m/s
3) 16m/s ' 4 1m/s

15.

A body is projected vertically ubwatds from the surféce of a planet of

radius R with a velocity eq"‘{lal to half the escape velocity of the planet. The
maximum height attained by the body is '

- Bow e @ B
@ Bf @ B

BPH-EE-2013-Code-D  (3)
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Q“§S(f.i°“ " Questions ‘
16. | The electromagnetic damping experienced by a metal mass moving in a
o magnetic field is due to e <1
(1) Alternating currenf 3
(2) .Eddy current .
(8) Magnetic field
(4) Alternating potential produced in metallic masé
17. | The Vahie of current at resonance in a series LCR circuit is affected by the
' vahie of _ |
(1)’ Ronly 3 ~ (2) Conly
(3) Lonly ? (4) L,CandR
18. | In which of the following regions of electromagnetic spectrum will the
~ | vibrational motion of molecules give rise to absorption ?
(1) Ultraviolet @ Micrbva;ave
(3) Infrared (4) Radiowaves
19. | If the fefracting angle of a prism'is 60° and the minimum deviation 30°,
| the angle of ihcidence will be
(D" 8% me i @) 45°
@ 60° @ 90°
20. The impurity_ concéntration in a normal diode is equal; to

(1) - 1in 10° Parts (@ 1in10°parts
(3) 1in 10%parts (4) 1in 102 parts

BPH-EE-2013-Code-D (4)
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No. Questions |
21, | Four bulbs marked 40 W 250 V are connected in series W1th 250V ma1ns :

the total power consumed is
ay oW @ 40w
(3) 320W T @ 160w

22,

The resistance of an ideal voltmeter is
(1) zero ‘ : (2) infinite
@) =1k - @) >1Q

23.

A d1p needle ina plane perpendlcular to magnetic meridian wﬂl be

- |-(1) Vertical

(2) Horizontal
(3) atan angle 45° to the horizontal ,
4) at an angle of dip to the horizontal :

24,

A power lme lies along the east west direction and cames a current of

| 10 ampere. The force per metre due to earth’s magnetlc field of 10 T is

(1) 105N _ (2) 104N
3) ;10-3N . 4) 102N

25.

The max1mum energy of a deutron commg outofa cyclotron accelerator is}

20 MeV. The maximum energy of protons that can be obtamed is
1) 10 MeV @ 20 MeV
3) 30_ MeV (4) 40MeV

BPH-EE-2013-Code_D (5)
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Question| . B
No. Questions
26. :| At what temperature is the r.m.s. velocity of a hydrogen molecule equal to
that of an oxygen molecule at 47°C ?
(1) 80K i R s ey s R
@) 3K iy K
27. |- A material has Poisson’s ratio 0.5. If a uniform rot of' thls material suffers
a long1tud1na1 strain of 2>< 10‘3 What percentage increase in volume takes
place ? =
1 (1) 2% . 2) 2.5%
(3) 5% ‘ . @ 0%
28. | A metallic sphere c__ools from 50°C to 40°C in 300 s‘ec. If the room
temperature is 20°C, then its temperature in next 5 minutes will be
(1) 38°C 2) 33.3°C
(38)..80°C . ° | (4) . 36°C
29. | PV dlagram of a diatomic gasis a stralght line passing through origin. The
| molar heat capac1ty of the gas in the process will be
1) 4R 42 3R
4 : 5
ZR ' — R
® 3 AR
30. | Anelastic strmg hasa length ! when tension in it is 5N. Its length is h when

tension is 4N. On subjecting the string to a tension of 9N, its length will be

(1) [l+h. | (2) Ih
(3) 5i4h, e

BPH-EE-2013-Code-D (69
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e —
No. . Questions
~ 31, | Under the action of a force F = Cx, the position of a body changes from 0 to
x. The work done is g e
@) %Cex : 2) Cx2
@ Cx i s
~ 32. | The angle turned by a body undergoing circular motion depends on time as
le= 6, + 0.t + 6, t2. Then the angular acceleration of the body is
(1) o, A @) o,
3 20, TR (Y 26,
33. | A rocket of mass 1000 kg exhaust gases at a rate of 4kg/s with é.velocity
3000 m/s. The thrust developed on the rocket is o
(1) 12000N (2> 120N
(3 800N @ 200N’
34. | IfAis the Wavelength of hy’drogen atom from the transition n = 3ton=1,
| then what is the wavelength of doubly ionized lithium ion for the same
transition ' : :
B Bl @
@ A @ 9%
35. | The dimensions of pressure gradi'exit_ are
' (1) ML2T=2 (2) ML2T
(3) ML-IT (@ MLAT®

- BPH-EE-2013-Code-D (1)
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Code-D

!Question!

o Questions
36. The colloidal sblution of gelatin i1s known as
(1) Solventloving (25 Réversible
(3) Hyc%rophilic (4) All of the above
37. | Flux used in the m.etallurgy of iron is
(1). SiO, (2) CaCo,
3) Felspaf (4) Flit
38. | Which mof the following acids forms three series of Salts ?
(1) H,PO, 3 (2) H,BO,
3 H,PO, . | (4 H,PO,
39. Ox‘y‘gen molecules shows :
(1) Diamggnetisﬁ 2 Péramagnetism
3) Ferroxﬁagnetism (4) Ferrimagnetism
40. | Identify the molecular‘formula of tear gas-
(1) COCi, | L (@) CCLNO, .
3) HCCla CHO (4) None of above
41. | Which of the following gases is not a green house gas ? -
| co - @e, |
(3) CH, (4) H,O vapour
BPH-EE-2013—Code-D (8) |
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Questions

42.

The edge length of face centred unit cubic cell is 508 pm. The radius of the

atom will be

| @ 179.6pm - 2) - 288 pm

(3) 618pm 4) 398pm

43.

The freezmg point of 1 molal NaCl solution assuming NaCl to be 100%
dissociated in water is : (Kf=1.86 K Molahty“)

1) ~1.86°C (2 -3.72°C
(3) +1.86°C | (4) +38.72°C

44.

While charging the Ieagl storage battery

| 1 PbSO , anode is reduced to Pb

(2) PbSO , cathode is reduced to Pb
(3 Pb SO, cathode is oxidized to PbO,
(4) Pb SO, anode is oxidized to PbO,

45,

Which of the following is a unit of zero order réaction ?
® mlL's’ (@ Lmas
@) L mol’s (4 LmolS

. 46.

A gas occupies 2 litres at STP, It is provided 300 J heat $0 that its volume

becomes 2.5 litres at 1 atm. Calculate change in its internal energy

1) 300J | (2) 249.35J
(3) 498.70J ' 4) 600J

'BPH-EE-2013-Code-D _ (9)
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417.

What should be the solubility product of A, (SO,),

Ly gre R By e

(3 1088* @ 1088

48,

Which of the following arrangements represént incr'eaéing oxidation number

of the céntrél atoin ?

(1) ClOo;, CrO*, MnOj;, CrO;
@) Cro;, ClO;, Mho;, CrO>
@) Cro*, MnO;, CrO;, cio;

@) CrO;, ClO;, CrO*, MnO;

49.

In' solid ice, oxygen atom is surrounded :

Q) tefra,hedrally by 4 hydrogen atoms

2 | octahedrally by 2 oxygen and 4 hydrogen atoms
3) @etrahe_drally by 2 hydrogen and 2 oxygén atoms

4 octahedrally by 6 hydrogen atoms

50.

The paramagnetic speéie‘s is :

L PR P R

@-mels ‘(4) ‘BaO,

- BPH-EE-2013-Code-D (10)
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," 1_No..

Canmzaro s reactlon 1s. not glven by

| <1> O(CHO % (2) .—CHO

i '.(3)~ HC—HO' _‘(4) CH, CHO

P1cr1c amd 1s

-'(1) Trlmtroamhne g .(2) Trinitrotoluene

"'._(3) : Vola‘tile liquid B ,‘ (4) 2 4 6 tr1n1trophenolf_ o

~.'Whlch of the followmg amd is a V1tam1n e
A A(l) Aspartlc acid Gt (2) ASCOI’blC ac1d |

oy (3) Ad1p1c amd (4) Saccharlc ac1d

'_The commermal name of polyacrylomtrlle is
) (1) Dacron | " A (2): Orlon
@ Ve .~ (4 Bakelite

Edﬁénil is:

‘(1) art1ﬁc1al sweetener - (2) tranqulhzer

: '(3) antl ‘histamine ’ _ (4) ant1fert1hty drug -

XeF on complete hydrolysns glves

» (1) Xe ' ey @ XeO,

® X0 ‘(4)3 Xe0,4;'

JBPH-EE—2013—Code-—D . R,
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WQ“I%S:'“’“I | ) Questions
57. When one mol CrCl,.6 H,O is treated with excess of AgNO,, 3 mol o
| AgCl are obtained. The formula of the complex is :
(1) [CrCi, (H,0),]. 3 H,0 ) [Cr (H,0),] CL,
: @) [CrCl,(H,0),]ClL.2H,0 (4 [CrCl(H,0),] Cl,H,0
58. | Electronic configuration 6f a‘tra'lnlo,itiorvl elemént X in + 3 oxidation state is
[Ar] 3 d° what is its atomic number ?
1) 25 | (2 | 26 : 3 27 4 24
59. E’ohylidehe chlorideisn fan
(1) vic-dihalide () gem-dihalide
3) allylic halide ' (4) -vinylic halide
60. | Phenolis 1ess acidic than |
(1) - ethanol | (2) o-nitrophenol
(3) o-methyl phenol 4) o-methO}v(yphe‘nol-v _
| 61. | A solid compound X’ on heating gives CO, gas and a residue. The residue
mix_ed with water forms Y’. On passing an excess of COZ through Y’ in
water, a clear solution Z’ is obtained. On boiling ‘Z’ compound ‘X’ is reformed.
The compound ‘X’ is |
(1) Ca(HCO,), (2) CaCoO,
(3) Na, CO, 4) K,CO,
BPH-EE-2013-Code-D (12)
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: No. :

Questions

62. ,‘ The wrong statément about fullér_éne is iy
(-’1) It has 5ln}gmberéd Carboﬁ ring
(2) It has 6-’membered Carbon ring
(3) Ithas sp? hybridization
4) It:hés 5-mémbefed rings more than 6-membered rings_
63. | The c'hemicai com‘pc;)sition of cryolité mineral is
1) A0, i @ A40,12H,0
3 KA 8i,0, (4). Na, A(F,
64. CH3 —CHC/¢~CH, - CH, has a chiral centre, which one of the following
| ‘represents its R cdnﬁguration ? | |
. CH, C,H,
) H‘—('Z SOH, L @ ce-¢ ~CH,
e }l{ |
Wegp 008 -0 L HSC—,(:J- ce
‘_CszA 5 H
65. | Wurtz rgaction 1s best uSed for inaking 5 "
(1)  ﬁnbrahchéd alkanes | (2) Symmetrical alkanes

(3) Unsymmetrical alkanes (4) n-alkanes with odd number of carbons|

BPH-EE-2013-Code-D  (13)




Questibn{ : . ‘ S
No. | ; Questions | -

66. | The total numbers of protons in 10.0 g of CaCoO, is
(1) 1.5057 x 1024 : - (2) 2.0478 x 102
3 3.0115x10% (4) 4.0956 x 102

67. | Which of the following sets of quantum numbers are correct ?
i n—1 4= Lm=+2

@ n=2/,=2m=+1

3) n=3, ¢{=2m=-9

4 n=3,¢=4m=_9

68. | Among halogens the correct Qrder of electron gain enthalpy is :
(1) F>CI>Br>] (2) F<Ci<Br<I
3 F<Cl<Br>I 4 F<CI>Br>I

69. | The hybrid states of cenfral atom in diborane, diamond and graphite a

respectively :
(1) sp? sp?, sp? (2) sp® sp?, sp?
(3) sp?, sp?, sp? (4) sp, sp?, sp?

70. | Which pair of the gaseous diffuse through a small jet with same rate (

diffusion at same Pand T?

(1) NO,CO @ No,co,
(3) NH,, PH, 4 NO,C,H,
BPH-EE-2013-Code-D (14)
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Part-C Option' (i) (Mathematics)

| Q“;‘:’f_m ' Questions 2
[ e dy =
1. | Ify= SIN X ++/sin x + SINX+--.... © then e '
X
2y-1 : e cosx '
(D €os x @ 2x ]
cos x ' | Lk Dk q
® 331 @ cosx
72. | If the numbers between 1 to 65 and divisible by 4 are written in reverge
order then which of the following numbers wil] be gt 10th place ?
(1) 24 2) 28
3 32 4 36
73. Each observation of a raw data whoge variance is o’ is multiplied by K,
then the variance of the new data ig
(1) o2 : @) Ko’
3 Kz2eg? x 4) K+g?

74,

appear on each of them ig

W = 2

36




Cod

Q“;f" Questions

' 1 1 1 ,

76. | If b c" cta’ atp drein A.P, then
(1) a% b2 care in A.P.
(@) a,b,carein A.P.

S S D

»(3) b G grg m A.P.
4 a, b, ¢ are in’G.»P.-

77. | The nearest point on the line 3 x — 4 y =25 from the origin is
1 B,-9 . @ 4,-3)
R @ @43

78. | The area of the circle centred at (1 2) and passmg through {
pomt (4, 6) is
(1) 16n 2) 251
® 36z @) 491

79. | Theratio in Which_ xy-plane divides the join of (1, 2, 3) and 4,2,1)is
@D 21 internally 2 1:'2 externally
(3) 1:3 internally 4 3:1 externally

' Vimis o fp

80. I 3 (2x+ax ~x)=

@2 . ilne s o (@)
1 | 4

® 3 ey

BPHEE-2013-Code-D (g5,




No. °"1 Questions
81 The value offse"; dxis
; s 1
) ('1)} 4e® (2) 6¢%-
3 26t @ 3e¢*
82. | The area of the figure bounded by y = sin X, Y = cos X in the first
quadrant is s
1 2(vz +1) @ 2(v2 =1}
1® 2(B8-1 @ V2-1
83. | The solution of the differentia] equation y — =

84,

Ifa and b are two unit vectorg inclined
unit vector, then @ jg equal to




Code—i

IQue‘stionl ;
No.

Questions

86.

If|Z|2+1'=lzzj—1|,‘thenzlie-s on

(1) circle = (2 ellipse

(3) parabola | ~ (4) none of these

87,

The ineQualities 3x-y2 3,' 4x—y>4have
(1) solution for all X
(2) solutionforally .

@ solution for positive x and y

| (4) no solution for positive x and y

88.

Three dice are rolled. The number of possible outcomes in which ét lea:

one die shows 3 is

% | @ 1

(3 81 Lo ey o1

89.

If "P. =120 "C,, then the value of ris

@ 3ris @4

6y s S @ 6

. ' 90.

T ‘ 1 15 :
In the expansion of (xs = —2—) , the constant term is

X
@) B B v 8 S i Dl
® 0 ' @ ¥

BPH-EE-2013-Code-D (18)




lQ“;f:‘.im’{' o | = ~ Questions
9L | IFX={1,2,3), Y=(3,4,Z= 4,5 6) then XU(Y1Z) s
(1) {4 5 2 {1,2,5,6}
@ L2349 @ {1,3,6)
92. | Let A= {(a, b) cal+ b= 1,ab gR}.T?len Ais
! (1) symg_netric : @) antisynimetric
(3) reflexive % »(4)’1 transitive
93. | ff(x)=2x"+K, f(2) =26 and f (4) = 138, then f (3=
s o= —©®6 . @ .
94, | If sin®+cosd = 2 cos 8, then cos 8 —sin@ =
[ @D —V2coso
@ V2 (cos 0+sin@)
&) “f2sino
4 J2sino
o5, | 1t an (x+y) = a+b’ then tan x g
sin (x—y) a-b | tany
i - a
(1) 5 (2 b
3) ath ; (4) ab

BPH-EE—20134-Code—D (19)
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lau%?wn | Questions

96. | cos™ % +3 sin™ Pyt _

'
| 4n
(1 8 (2 3
37 57
® o @

97. | If w is one of the cube roots of unity, then

1 w w’
w 1 w’|=
w? w1
1) w° 2 w @ 0 4) 1
1 0 O
98. | fA={0 1 0 |,thenA’=
x y -1
1 1 2 A 3 -A @ I,

mx+1 , x<T
99. Iff(x)={_ é
sinx+n, x>/2

and f (x)‘ is continuous at X = % , then |

nmw ; 1
1) m-7+1 @ m,—n.-—z—
@) n=mg 4) m'=1,0=0

100. | The maximum value of xy subject tox+y =121is
1) 16 2 18 3) 24 (4 36

BPH-EE-2013-Code-D (20)




P_a‘rt-FC Option—(ii) (Biology)

uﬁs::mn ' i | Questlons

| (1) T-cell deﬁc1ency _
2 Enlargement of spleen

(3) Neutrophﬂ excess
(4) W. B. C excess '

101. | Patients suffering from AIDS have followmg Immune 'abnormalities L

102. | Wh1ch of the followmg is essentlal for blood clotting ?

(1) Lymph ‘ T ’ ; (2) Blood platelets
3 R.B.C. gt T iy B. C.

- 108. The sahva helps in the d1gest10n of o

R 1 (1) Starch : Lt (2) Protems |
(9 Fibres . . ' (4) Fats

104. G01tre is caused by.

Al & (1) Over eating |

2) ~Deficiency of Iron

_:(3) Deﬁc1ency of Iodine
‘/.(4) Deﬁc1ency of Vltamlns |

105.." Testosterone is secreted by : v S
_ (1) Hlstocyte Vel (2) Sertoli cells

' (3) Leydig cells e - (4) Pr1mary spermatocyte

(Wegge < v = ot _(2).17
(3).-;.19' P @ 21

~ 106. | Down syndrome is usually the result of an extra chromosome ;

BPH-EE-201’3—Code-D‘ S )
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No. Questions

107. The two strands of DNA are Jomed by :
1@ Covalent Bond : (2) Ionic Bond
3) Hydrggen’ Bond o (4) Phosphodiester Bond

108. | Which is the most primitive group of -algae s

(1) Green algae (2) Blue green algae

(3) Red algae (4) Brown algae
109. 'Durir}g cell cycle ‘DNA synthesis takes place in :

] (1) Prophase | ' (2) S phase

(3) Glphase (4) G2phase

110.-| Photosynthetic pigments ai_‘e located in the :
(1) Thylakoid membrane |
(2) Inner membrane

(3) Outer membrahe

(4) Thylakoid lumen | e | ‘

111. | Vinegar is obtained from mollasses with the help of : {
| Aspergitius @ Rhizopus ]
®) Acetobacter (4) Penicillium ' l

112.| The amount of ATP requ1red for the synthes1s of one glucose molecule in

C, pathway is :
(1) 18 ATP S gy 20 ATP
(3) 28ATP ' (4) 30ATP

'BPH-EE-2013-Code-D (2
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Quﬁs:iorl | Questlons
119. .Interspec1ﬁc hybrlds proved very useful tores , E
(1) Gene function . e B (2) Gene mappmg »
- (3) Gen_e structhre A 4) vGenetmmampulationz
© 120. | Systematics deals with : ' .
7 16y Classification of organisms
(2) " Identification of'orgenisms |
:'(3) | ‘The kind and’ dlverS1ty of all orgamsms and ex1st1ng relatlonshlpq
| B .among themselves '

e '(4).', ‘None of the above :
121 ",HYdrbpo‘ni_cs is: ‘v |
O @ Sov‘il>less,cu1_ture. AR | \ (2) 'Water l.ess' cuvl_tillre:’ |

3): A1r less eulture | Ce (~4) Nutrieht less cﬁlfﬁre
12-2'.' Bt crop grown by the farmers in Indla‘ is T
L (1) Malze _4 B e . (2) Wheat &
163 Cotton | ‘v i, ‘(4‘) T.emato:'
- 1:23.’ v Age of tree can be estlmated by :
_;(1) Helght and glrth : @ Biomass ! | i
(3) Cork: o ; | (‘4). _,Nﬁmber o‘f?'Anvn.lyielvrings. |
124.} ' In DNA ademne normally palr W1th | -
'.(1) Guamne ' _ : _. f‘_,‘(2) Cytosine "
® Thymine © (&) Uradl
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. VVQ‘-‘&S&E“ " '»Questiehs
B 125 The genotypm ratlo of monohybr1d croes is :
SRR S I (2) 9:3:3: 1
® 1: 1‘ 1 LR '._ @ 1:2:1
'> -‘126.‘ ' The protectlve covering of bram is: |
| @) Pleura i (2) Meninges
(3) Pericardium - _' : : = .(4) Perltomum,_
127 ‘Fertlllzatlon of ova in human takes place 1n |
| » ) Uterus . e (2) Vagma
A 4(3) - Falloplantu_be e T 4) ‘Ovary
: 128, .C‘arbon monoxide p01semng is due to the formation of
|  (1) Methane IR @ Carbonlc acid h |
3 Carboxy haemoglobln - (4) Oxy-haemoglobm
129. }. 'Abnormal secondary growth is found in: | L
s (1) Cucurbita B _(2). D_';;aeaen_a.' i v
(3) Triticurh . %+ '(4) | "Slt.’ivgarcane‘:&:’
| 130 .Whlch is the causatlve orgamsm of Typhmd %,
(1) Salmonella typhi o |
(2) Mycobacterium typhi |
(3) Plasmodzum falczparum
4). All of the above
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(MATHEMATICS) 24/06/2013

BPH-EE-2013

i D

SET CODE

21 — 3 31 41 51 61 71 81 91

il = 1

3

22 = 1 32 42 52 62 72 82 92

12 - 2

2

23 - 4 33 43 53 63 73 83 93

13 = 1

3

24 - 4 34 44 54 64 74 84 94

14 - 3

1

25 = 2 35 45 55 65 75 85 95

15 = 2

2

26 - 4 36 46 56 66 76 86 96

16 - 4

1

37 47 57 67 7 87 97

27 - 3

1

17 - 3

98 -

28 = 1 38 48 58 68 78 88

18 - 4

2

29 - 3 39 49 59 69 79 89 99

19 - 3

4

20 - 2 30 - 4 40 50 60 70 80 90 100 -

10 - 4




